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Notes

> You should apply these transformations left-to-right:

> Flip around x-axis (if any), vertical shrink/stretch, flip around y-axis (if any), horizontal shrink/stretch,

shift x, shift y.

> Note that the transformations that apply to x are generally the reverse of what intuition would tell
you:

> The number inside the parent function is an x divisor, instead of multiplier; the “3" in the above
example will make the graph 5 as wide as normal.

> The x offset is to the left when positive, to the right when negative.

v 1.0 © 2016 John Deubert Available for downloading from www.acumen-tutoring.com



http://acumen-tutoring.com/studentmaterials.html

